Simplify Expressions
Simplify the following expressions.

2t(3t+2) +5¢ 10k +2k(-8k —3)
—m(2m+3)—-8 3x—-3x(—-7x+9y—-2)
w(=3w+5)—5¢ —5w(=5-4y—2w)—-10w*
—2z(-4p+62)+8p ~4(Tn—9p-3)+4p
10p+5(6+7p) 5S¢ — 4¢(2t +4q)
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Simplify Expressions

Simplify the following expressions.

2t(3t+2) + 5t
=6t + 4t + 3t
= 61" + 7t

—m(2m+3)—8
=2m*—3m—38

w(=3w+5)-5t

= 3w’ +5w->5¢

—2z(-4p+62)+8p
=8zp—12z"+8p

10p+5(6+7p)
=10p+30+35p
=30+45p

10k + 2k (~8k — 5)
=10k —16k> —10k
—— 16k

3x-3x(-7x+9y-2)
=3x+21x* —27xy+6x
=21x> —27xy+9x

—5w(=5—4y —2w) - 10w’
= 25w+ 20wy +10w" —10w"
=25w+ 20wy

—4(Tn-9p-3)+4p
=-28n+36p+12+4p
=-28n+40p+12

57 —4t(2t +4q)
=5t -8 —16qt
=-3¢* —32qt
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